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L7-3 HOMEWORK
Binomial Radical Expressions

Complete #12-39 (multiples of 3).
Simplify is possible.
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Simplify.
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Multiply.
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Multiply each pair of conjugates.
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Rationalize each denominator. Simplify your answer.
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image4.tmp
23. (3 + VB)(1 + V5) 24. 2+ V7)1 + 3V7) 25. (3 — 4V2)(5 — 6V?2)
26. (V3 + V5?2 27. (V13 + 6)? 28. (2V5 + 3V2)?
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29. (5 — VI11)(5 + V11) 30. (4 — 2V3)(4 + 2V3)
31. (2V6 + 8)(2V6 - 8) 32. (V3 + VB)(V3 - V5)
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5+\V3
35,202

36.

3+ V8
2-2V8
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37. Think About a Plan The design on a parquet floor, shown at the right,
is made of equilateral triangles. The side of a large triangle is 6 in.,
and the side of a small triangle is 3 in. Find the total area of the design to
the nearest tenth of a square inch.
« How many large and how many small triangles form the design?
e (Canyou express the area of an equilateral triangle through its side?
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38. V72 + V32 + V18 39. V75 + 2148 — 5\/3
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10.5V6 + V6 11.6V3 - 2¥3 12.4V3 + V3
13.3Vx - 5Vx 14. 14Vx + 3Vy 15. 72 — 22
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16. The design of a garden path uses stone
pieces shaped as squares with a side length

of 15 in. Find the length of the path.
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17. 6V18 + 3150 18. 14V20 — 3V125 19. VI8 + V32
20. V54 + V16 21. 3W81 — 254 22. V32 + Vag




